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Equivalency Results  How are they calculated?
The sum of the greenhouse gas emissions you entered above is of 1,450,002 | Metric Tons
Carbon Dioxide Equivalent. This is equivalent to:
Greenhouse gas emissions from
310,493 3,553,925,318 505,227 712,247
— Passenger —_ Miles driven Tons of waste Garbage
. vehicles driven . by an average a recycled a trucks of
for one year |7 passenger e @) B instead of e @) B, waste recycled
vehicle landfilled instead of
landfilled
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Source: http://www.solvay.com/
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Source: US-EPA, Chesapeake Bay Total Maximum Daily Load
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mmmm Hydrochar == Biocrude oil
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